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vAnswer the Questions from any one Option.

OPTION-A -
(Plant Anatomy and Embryology)
. Paper : BO’I‘—HG—4016

OPTION-B -

( Economic Botany and
Plant Biotechnology)

Paper : BOT-HG—4026

For Regular Core |
(Plant Anatomy and Embryology)
Paper : BOT-RC-4016
" Full Marks : 60 |
Time : Three hours

The ﬁgures in the margin indicate
~ Jull marks for the questions. '

Answer either in English or in Assamese.
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OPTION - A
( Plant Anatomy and Embryology )
Paper : BOT-HG-4016/BOT-RC-4016
~ Answer very briefly : | 1Ix7=T7

(a) What is the only living cell present in
xylem tissue ?

GiErEe 24 GFEg SIS @iF e

(b) Write the type of vascular bundle in
W dicot Teoet:

B-Soela) S Melre ol FaeeRReE
i fordi | .

(c) Who discovered the process of .double
fertilization ?

fa-arola el (i wikws sRfEe .
(d) What type of fruit does not bear seeds ?
e T w e @ 5 ToEe

(e) What type of endosperm is found in
wheat ?

igfTe ﬁi 499 SEAAIT (ol T2
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() What is cambium ?
SRUSRIEEEE
(g) - What are sunken stomata ?
e oqwmam fee
- 2. Write briefly :

S forei g

{a) Quiescent centre (Mem =m)

2x4=8

(b) Parachute mechanism of seed dispersal

N SRR RS @ Ferey
(c) Embryo sac (SefiEig)

' (d) Annual rings (334e7)
3. Answer any three of the following ;
| ‘ ox3=15
©eTe ST R frwr o ves R

(@) Difference between the internal
structure of dicot and monocot stems.

REAd o e d S s
SICIGI 15 ofiefay |

o
o
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o e . d sa;;’ . - - (b) Describe the -extrastelar- séc’_opdary
S (b) Write briefly on heartwood and _ - growth * in dicots with suitable
. wood. o : - illustration. Distinguish  .between .
" ;nq Y W TR Y TS TR ferall o - iﬁ;ll;:llllll;r and interfachgtillag
- | NUSCRA ' ophytes. - | R : ' '
() Anatomical featares of xemophyies: PR Rfund Sm wes ot <l
= TR SR i) - I T I M ol W SR
t .(d) Describe . the. important theor:;z,t .C“%TE'”. CWH'“.':” ere. fﬂﬂﬂﬂ{{
" relating to the organiS?.tIOn of ro ‘ ‘ o . | . ‘ :
) ‘apex. - . - : | o ; :
3 S ' ¢ STEATE (c) - Describe about the contrivances . for
‘ T FAFR TS TS W‘?’ff > | : »Cross pollination in plants. ‘
S AL AL e RPN AR BfegTs & e
| . te
' fe) What is double. fertilization ?d"‘;"&e e e - .
. briefly about the significance of do . S
’ fertilization, N | (d) I_-Iovl: are functiogal megasg)ore and
- e 1353 - embryo sac formed ? Describe various
- o e ﬁ‘m ole - ' : - types of embryo sac developments in -
- fmn : : - angiosperms with neat diagram. .
| S - 2+8=10
4. Answer any three of the follomngléx 3=30 , i @‘.@‘1 . Wmm 9T 22
o : . ~ wm%mﬁmmmmwm
Wmﬁmmﬁﬁm%mm;‘ﬂvwaﬁ - Wﬁmma@w|
- (a) What is meristematic tissue ? How &’ £ . . o
, ~ +they classified ? Write brieﬂY2 fgf;lo (e) What is permanent tissue ? Describe
them, : 2+2¥07 77

different types of sim

l 74l . ple tissues vWith
AT ‘ . neat diagram. . 2+8=10
e R TR efifRemm @ T . .\
R 5 | | ,
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| -'4_m§(mﬁs?mﬁ%ﬂwww

kGO R

() What is polyembryony ? Who first

' f
reported the phenomenen o
_polyembryony ? Discribe briefly aboui
the cleavage polyembryony with nea
.. diagram. '

el B2 O dew TEEsl AT
- R R IeeoR ek 3 =
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- OPTION - B

( Econdmic Botany and
Plant Bzotechnology )

Paper BOT—HG—4026 , .
1. Answer the followmg questlons 1x7=7

WW%@W

(a) What is the scientific mname of gram ? .

oI R A e

‘ (b) What is the ‘main alkaloid found in -
black pepper ?.

Wﬁs@ Coltal 20 ammisﬁ«mﬁw
(c) Groundnut belongs to which family ?
ﬁaﬁm G (ol ww? .

(d) Who is known as father of tlssue"
© culture ? -

AR T qf%j e W e
~(¢) What is gynogenesis ? |
e R
() Write the full form of RFLP.

W«ﬂtﬁuﬂﬁfﬁl«‘i mcfm o)
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- | . R ‘Fﬂﬁaﬁwﬁm'wm‘m
(g)- What is DNA fingerprinting ? ~ . - S ' o o Al
. , (b) Scientific names and uses of clove and

HL o R %&ﬂﬁfﬂﬁk-ﬁsj‘?‘ T ' o black pepper - .
B 2. Answer the following questions briefly : - - - TR IT'.‘I (TR T i TR
L S | 2x4=8 (9 Micropropagation o
L e et eneRE e B s - | o e
; © (a) What is endosperm culture: ? 4 | 3 (d) DNA fingerprinting technique and jts
‘ . S 353"-1 fe ‘ | o : | | ., uges o | . .
' (b) - What is bloﬁting technique ? - ' - Ra ﬁswm B2 afdm e 33
- : (e) Rgeverse,transcriptase—PCR
. (c) What is RAPD marker ? : : " -
A - | i’ Gy y—ifowir
wie.a.PLfe. i e | o : A
I(d) What is ELISA test ? | ' 4.. Answer the following questions : 10x3’=30
caﬁw’mﬁ? , ‘. L . . Wm-mwwg
: L | ' (a) Define centre of origin. Describe
-3. Write short notes on the following : (any ' Nikolai Vavilov’s centres of origin with
. three) g T 5x3=15 | examples of the crops. ' 149=10
TS frais e 5y Gt fay s (Rt - %aﬂl%a@maammﬁmﬁas’aﬁm’m
s - | - | BT (FErgTIR PR ST v |
(a) Origin and economic importance of S ‘ ' ,
Soybean . .
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Or / g4 Or / 974
Discuss the centre of origin, ?CientiﬁC | - Describe the molecular DNA markers
name, processing and usels 'ci)+ ;iz- i — RAPD, RFLP and SNPs.
+ i3 - : : '
; e . iR .99, NFT— .9.HE, S79s,
PR T SR urme, e A, |

- 9Efe. R gp.ge. TR [REe e
S T s

(b) Describe the in vitro pathways of
gynogenesis and their application.

6+4=10
Fo Beolfen stafoomz wie e Ted
e =t <= N
g | Or / wemt

Describe the process of embryo culture
~ and their practical application.

= el o TR AR AR
T |

() What is SDS-PAGE technique °?
Describe the southern and northern
blotting techniques in electophoresis.

1+9=10

B fC.® AR A5l Ro whieel o T
ARCN aiferars (T 3661 |
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